swe the questions below. :
Answer all questions below : Use the 3 formulae below to answer all i

Caleulate the number of moles in: the questions. Don't forget to check

gl
a. 804 of calcium 2 your answers when you're done.
b

. 244 of carbon

2.5 moles of sulfuric acid (H2SO4) M, = relative formula mass

—_—

¢. 2089 of chromium fn=m = M,
d. 28g of iron :

. ) O
e. 11.9g of tin :
f. 1.33g of caesium s Ar
2. Calculate the mass of the following: P = nx M,
a. 3 moles of calcium :
b. 20 moles of carbon
¢. 2.5 moles of aluminium t M, =m +n
d. 0.5 moles of iron ;
e. 0.25 moles of lead  Where:
f. 5 moles of sodium. n= number of moles
g. 3 moles of oxygen gas (O.) :

_ L m= mass

h. 2 moles of nitrogen gas (N>) :
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Calculate the number of moles in:
644 of oxygen gas (O>)

564 of nitrogen gas (N2)

4ag of sulfuric acid (H2SO4)

3509 of calcium carbonate (CaCOs)
6.35g of iodine (I2)

N

Trickier moles calculationsS.......eueeeeeeeeeeeeeeannn..

Calculate the number of moles in 1009 of:
carbon dioxide (CO>)

water (H,0)

sodium hydroxide (NaOH)

g{ucose (CéH:LZ 0@)
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o

&

5. Calculate the mass of:

a. 3 moles water.

b. 5 moles of carbon dioxide

¢. 12.5 moles of glucose (CeHiz Oc)
d. 2 moles of methane (CH4)

6. Calculate the number of moles in:

a. 1.5 tonnes of iron oxide (Fe20s) (1 tonne = 100kg)
b. 450kg of glucose.
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Answers

1. Calculate the number of moles in: use the formula . = M = A, to answer

these questions

a. 80g of calcium 2 moles
b. 244 of carbon 2moles
2089 of chromium 4 moles
284 of iron 0.5 moles
11.49g of tin 0.1 moles

™ 2 6

1.33g of caesium 0.01 moles

2. Calculate the mass of the following: use the formula = n X A, or

M= n X A, to answer these questions

3 moles of calcium 1204
20 moles of carbon 2404

s ®

2.5 moles of aluminium 67.5g
0.5 moles of iron 564

0.25 moles of lead 51.75g

5 moles of sodium. 115¢g

3 moles of oxygen gas (02) 964

S ™ e o a o

2 moles of nitrogen gas (N2) 5¢g
(. 2.5 wmoles of sulfuric acid (H.SO4) 2459
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3. Calculate the number of moles in: use the formula n = m = M, or

n=m =+ A, to answer these questions

649 of oxygen gas (02) 2 mole

569 of nitrogen gas (N2) 2 moles

44ag of sulfuric acid (H.SO4) 0.5 moles

3509 of calcium carbonate (CaCOs) 3.5 moles
6.359 of iodine (I2) 0.025 moles

SN SRS

Trickier moles calculations........ueevevcevveeennn,

4. Calculate the number of moles in 100g of: use the formula n = m = M, to
answer these questions

a. carbon dioxide (CO.) 2.27 moles

b. water (H.0) 5.5 moles

¢. sodium hydroxide (NaOH) 2.5 moles

d. glucose (CeH12 Og) ©0.55 moles

5. Calculate the mass of: use the formula M= n X M,
to answer these questions

a. 3 moles water. 544

b. 5 moles of carbon dioxide 2204

¢. 12.5 moles of glucose (CeHiz Oc) 22509

d. 2 moles of methane (CH4+) 3249

6. Calculate the number of moles in: use the formula n = M = M, to answer
these questions

a. 1.5 tonnes of iron oxide ( 1 tonne = 100kg) 9375 moles

b. 450kg of glucose. 2500 moles
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